
*Повторение
условного 
оператора



№1. Укажите правильный вариант использования условного 
оператора.

A. IF <условие> THEN begin <серия операторов 1> end ELSE begin 
<серия операторов 2> end;

B. IF <условие> THEN <серия операторов 1>; ELSE <серия 
операторов 2>;

C. THEN begin <серия операторов 1> end IF <условие> ELSE begin 
<серия операторов 2> end;

D. THEN <серия операторов 1> ELSE <серия операторов 2> IF 
<условие> ;

E. IF <условие> THEN <оператор>;



№2. Укажите правильный вариант использования неполного 
ветвления.

A. IF <условие> THEN begin <серия операторов 1> end;

B. THEN <серия операторов 1>; ELSE <серия операторов 2>;

C. IF <условие> ELSE begin <серия операторов 2> end;

D. ELSE <серия операторов 2> IF <условие>;

E. IF <условие> THEN <серия операторов 1>;
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